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INSTRUCTIONS FOR CANDIDATES

1. (a) Candidates are allowed time to fill up the basic information
about themselves in the OMR’ sheet such as Name,
Roll No., etc.

(b} After this, Question Bookiet will be given to the candidates.
Tally the number of pages alongwith no. of questions printed
on cover of the bookiet. In case of any discrepancy please
get the booklet changed immediately.

{c) Answering of question is not allowed in the given extra time.
Two hours time will be given for answering.

2. (a) OnAnswer Sheet, supplied to you write/put Roll No., Question

Booklet No., Set of Question Booklet (A, B, C or D). Name of
. Candidate, Signature of Candidate, Date of Exam in Black

: Ball Point Pen.

{b) On Answer Sheet fill in your Roll qu Question Booklet Set

' and Centre Code etc. by darkening corresponding
circle O with Black Ball Point Pen.

(¢} On Answer Sheet only the answers to questions are to be
marked. The instructions for this are available on the back
cover page of this Question Booklet.

3. Optical Mark Reader (OMR) machine prepares the result by reading
the entries made In the circles O with the Black Ball Point Pen
on the Answer Sheet, hence the candidates must be extremely
careful in marking these entries and must not commit errors.

4. Please do not write/mark on Answer Sheet anything extra except
what is asked for.

5. USE OF ANY CALCULATOR, LOG TABLES, MOBILE PHONE
ETC. IS PROHIBITED.

6. Rough work should be done on the blank pdges or in the space
provided for this on each page of this Question Booklet. Extra
paper will not be supplied.

7. If there Is any sort of mistakes/discrepancy (In Hindi or English

-~ Version of the question) either of printing or of factual nature
then regarding this Commission’s decision will be final.

(For instructions regarding marking the answers please see the
back cover page of this Question Booklet)
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Read the given passage and answer the
questions that follow : '

Innovative Textiles Pvt. Ltd., run by two
brothers Krishna and Rajan, is a Raipur
based Chattisghari Silk Garment export
company. It was set upin 2001 by Krishna,
who has a deep knowledge of designing and
manufacturing silk garments. Rajan joined the
company in 2010 after completing his M.B.A.
Krishna was responsible for designing and
production of the garments and Rajan for.
sales and liaisoning with the foreign
importers. Personnel management, however,
was jointly looked after by them. Since the

" inception of the company, Krishna had

worked very hard to ensure its growth. He
rewarded his committed workers and had
even friendly relations with many such
workers. However, he was intolerant to any
carelessness, demand for salary hike or
bonus demand; and would take no time in
firing such workers even if they happened to
be very expert and committed ones. Rajan,
on the contrary, would never befriend his
employees but would give them their due. He
would attentively listen to their suggestions,
demands and even criticism. He believes in
setting high goals for his employees and
getting them accomplished by rewarding and
motivating them.

In view of the increasing demand from the
importers, Rajan wanted to reemploy many -
expert weavers fired by Krishna as to increase
production and ensure quality, but it was a
very tough task to convince Krishna. Though
Krishna somehow agreed to take them back,

“yet he could not digest the move. He would

often express his feelings by speaking
sarcastically, bumping his hand on table,
raising his eyebrows or. getting sulk, which
gradually made the atmosphere quite tense
for the partners as well workers finally
resulting in poor production. Rajan starts
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pondering over whether to continue with
Krishna or to part with him, and set up a new
company. However, in view of Krishna's
expertise in the field of garments as well as
his contribution to the company, Rajan
decides to take a chance and negotiate a deal
with Krishna. Accordingly, both of them
decide to have fifty percent share each and
Krishna is made in charge of designing and
quality control. For production and personnel

‘management they appoint a team of

managers led by Vivek, an experienced
M.B.A. Rajan confines himself to sales and
liaisoning. Krishna feels satisfied with the
deal, so does Rajan. The workers, under the
leadership of Vivek, start working as a:
motivated and result oriented team. Why not
so, apart from a congenial atmosphere now
they have been assured performance cum
profit based incentive in addition to their
salary.

1. An employer with good interpersonal
skills has relations with
his employees.

a) Family

b) Very intimate
Vg}/Pﬁfessional

d) Unfriendly

e) None of the above

2. If you were Krishna,' how would you
react to your employees’ carelessness
or salary/bonus hike ?

a) Fire them immediately

b) Overlook their carelessness and
welcome their demands

c) Take no action

o) T st Hrlaeh i _
)-ﬁ - : \,d)/T ake any action after looking into
d) e Afedsh & Hmel W e ER ok o the matter with open mind
e) IHd o HIE T e) None of the above
CGP - 16 - 02+ Page No. 5 Set-A
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3. We can achieve work targets by
a) Motivation
b) Reward/punishment
c) Monitoring

vd)/Ali of the above

- e) None of the above

4. Rajan’s habit of not befriending his
empl/oyees but giving them their due is -

v{) Professional approach
b) Unprofessional approach
c¢) Whimsical approach
d) Rude approach

é) None of the above

5. Which of the following does not fall
under interpersonal skills 2

a)' Non-verbal communication
b) Listening skills

c) Decision making

d) Problem solving

v@f)/l\lcsne of the above

6. Who of the following demonstrates © |

excellent interpersonal skills ?

a) sHar a) Workers v
b) o1 b) Krishna
- ¢) TeH ¢) Rajanv’ g
d) IR qsft d) All of the above
e) IWad § i & e) None of the above :
CGP-16 - 02+ | -Page No. 6 Set-A
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a) 34
b) 36
c) 38
d) 40
e) 8 | H13 T
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a) IW

b) 9=

c) aferor

d) <feror-ufyem
e) ¥ @ =3 T

9. Fimifrfaa o # gt we 3

7. The missing number in the followmg
tabl%’ls

2 J\w 17
32 V28 {23
35137 |7

a) 34
b) 36
c) 38
- d) 40‘9‘)}#\
e) None of thése ~

_ @'}
8. The time by my watch is quarter pan\ o
twelve. If the hour hand points to the
east what is the direction opposite to
the minute hand ?

mrth

b) West
c) South
d) South-West

e) None of these

9. The missing number in the following
series is

1,2,4,9, , 64,186
1 2 499 v_S , 64,186
a) 27 g g e
a) 27
b) 25 \/
b) 25
g 23
c).23
d) 21
) d) 21
e) ¥ ¥ K el e) None of these
CGP - 16 — 02
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a) 102 .
b) 12 1.
c) 13 4.
d) 14 .

e) T | FIs el
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a) 27
b) 54
c) 36
d) 8
e) T ¥ &g TRl
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10. Aladder 10 mlong is placed in a street
and reaches a window 8 m high of a
house keeping the foot of the ladder in
the same position, the ladder is turned
and reaches the window 6 m high on

~ an opposite house. The breadth of the
streetis

a) 1042 m
| b) 12m

c) 13m

d) 14m

e) None of these

11. Allthe six faces of a cube of edge 5 cm
‘have been painted red and then itiscut |
9 into 125 unit cubes. The number of -

@p cubes having colourless faces is

a) 27
a-

L8
45'

- ¢) 36

b) 54

d) 8

e) None of these

12. With the data of Q. No. 11, the number
of unit cubes having only one face

coloured is

a) 27

a) 27
b) 54

b) 54
c) 36
2l c) 36
) 8 ; d) 8
e) T 4 I T e) None of these

CGP - 16 - 02« Set-A
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' ane m-' ¢ <fiot 13. In an examination 80% of the
e @jﬂmﬁ ?30 - i sﬁa;; 5% candidates passed in English, 70% in
70% U ¥ g 10% T &M e | Maths but 10% failed in both these
§U Afe 144 Sofiear 4 QAT Tt subjects. If 144 candidates passed in
% il g, o Sefieari < et wen o both these subjects, the total number
a) 420 g veth of candidates was '
T a) 420
b) 240 W xCo™
N b) 240
¢) 402 G
o g I c) 402
3 d) 204
e) ¥ & FE T e) None of these
14, frafafea s 1 g veand # 14. The missing numbers in the following
b 1 (RSN i ¢ ‘sequence 2,3,5,7, A\, [, 17 are.
a) 9,13 a) 9,13 ' *
b) 11,13 \)2)/1: 13
c) 18,15 c) 13,15
th 11515 : d) 11,15
e) T @ HE T e) None of these
15. Fr=fafes s 15." The missing numbeLn the following
: e sequence 1, 3, 3, 1 4 9,1,16, __is
1,2,3,1,4,9,1,16, _ @ E&A g % P
a) 36 a) 36
b) 49 b) 49
C) 64 c) 64
d) 81 vy 81
o) TR A FEAE ; e) None of these
16. f&d aﬁaq-ﬁa‘éq g 7 EfE 93 81 A, B 16. Seven persons are sitting at a dining
SO SBTe I CH IR D & € table. A is facing B who is to the left of
21.C, E % sl Y318 F, D & &% Fa1 2| Candrightof D. Cistotheleftof E. Fis
E 9o G TR I forfeaf see o totheleftof D. If E and G exchange their
T B D +ft TR o7t ferfrt sew o seats and D and B also exchange their
5 oW E¥ s e Yed ? ' seats, then who is sitting to the left of E ?
a) A a) A
o) C c) C
d) D d) D
o) T A Wi e) None of these
Page No. 9 Set-A
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968 _ 768 55y 4 | W RAT ST B | TR B
a 3 '
b) 2
= i
d 0
sqﬁ@r#é%"r

18. 1, T 9 SR T3 I Forelt wlan A A1 e

19.

Rulqu Y vew s d 60 WA 24 Ww T
e T § 40 T @ 32 3k T o) e A
a‘r%efr 701&% 35 a1 60 T ¥ 54 3%
m@rﬁm@mﬁ‘q’rmﬁ 90 | ¥ 27 qu
50 § ¥ 45mmm|%aﬁaﬁm
afeh T TR 2

a) gl
b) %
c) g
d) g o g A A
e) 5 9 s Tl

15 el 6l wifederT 38 8| Uk G&AT 17
&1 33 § sea fear man| wnfeiem

1L

18.

19.

968 768 is divided by 4. The remainder is
a3 -
B2
¢) 1
d) 0
6) None of these

Mush, Kush and Bush each took part
in two tests in some examination. Mush

got 24 marks out of 60 in the first test

and 32 out of 40 in the second test. Kush
got 35 marks out of 70 and 54 out of 60
in the two tests. Bush got 27 out of 90
and 45 out of 50 in the two tests. Who
got the maximum marks ?

a) Mush
_b) Kush

c) Bush _

d) Mush and Bush both

e) None of these

Median of 15 numbers is 38. A number
17 is replaced by 33. The median

a) 16 ¥ 5ig swht a) Will increase by 16
b) 8 & wg STl b) Will increase by 8
c) 1 ¥ =g St c) Will increase by 1
d) =€ Wit d) Will remain the same
e) ¥ 4 F1E &l e) None of these
20, freff a3 R AE2 A ARy | 20. Find the odd one out (if any) from the
 SfTFISH, AT, BRGNS - TaEe Telgings W09
o o T < ? Oxygen Nitrogen, Hydrogen-peroxide,
BRI, FTH SRS Y\LHydrogen Carbon dioxide R
a) TEGSH a) Hydrogen
b) wTg2eA b) Nitrogen
C) BIZE IS -TNTHTES <] Hydrogen-peroxide
d) FE SEATFERES "d) Carbon dioxide
e) 370 ¥ 15 el e) None of these
CGP-16-02: Set-A
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21, PefRfaddda @RAEEMFoiRe: | 21. Find the odd one out (if any) from the
following :
:llstEFa Qi@lg ?Eli;‘?ll][t% Q@IE trm(m&gil :
T ) ﬁ,\ g\?.f}Nltrlc acid, Sulphuric ac:d Mercury,
eI Tfire, QQ%LS%?\ Hydrochloric acid, Water
O\ v
a) 4RI \z«:s\ '6\/ }‘-’% a) Mercury
b) BRI Tfrs o """ b) Hydrochloric acid
c) Mt : \q\{? c) Water
d) i Tre d) Nitric acid
e) ¥ & %1 Tl - \,é{ None of these
22. ﬁﬂ%ﬁéﬁﬁﬁﬂ@léﬁﬁ%?@fﬁf@ﬁﬁ% 22. Identify the number which is different
8786, 885, 579} 696, 398 - from others in the foilowing
a) 579 876, 885, 579, 696, 398
b) 876 a) 579
- ' b) 876
. c) 885
398
6) ¥ ¥ FE _ e) None of these
23. frfafea wedi A weehiy & HARER 23. Afrange the following words
feftau | according to the dictionary pattern.
nutant, nescience, nutrient, neutral,
nutant, nescience, nutrient, neutral, G - :
' negatiate
negotiate
a) nutant, neutral, negotiate 5). autant, neusal, hegaligte,
i g t 0 ! nescience, nutrient
nescience, nutrien
b) nutant neutral nutrient B msant, neutel. G,
nescience negotiat:e , i
c) nescience negotiate, nutant ¢) nescience, negotiate, nutant,
nutrient neliltral v 7 | | hutrient, neutral
d) neutral, nescience, nutrient, nutant, d) neutral, nescience, nutrient,
negotiate nutant, negotiate
e) 3;@; g 8 e ~€) none of these
CGP - 16 - 02 Page No. 11 Set-A
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24, fret e s i ‘her idea has merit’ =1
“fa lu boo ma’ fr@T ST B, ‘merit list

has been shown' =1 ‘go he lukija’ aam |.
‘name in merit list =T ‘pa ya kho he’

ISCISIGIE RIS
‘he’ Tormes forg srraT @ 7
‘a) idea | :
b) merit
oY st
d) name :

e) 3 ¥ i3 T

25. AR6x7=2,3x5=55x8=0
Ix5=7
a) 5 .
b) 4
c) 3
d) 0
e) 3T ¥ %S T
26. WAL : BN ;TR : 7
a) HEEa
b) el
c) R
- d) wHET

e) T 9 FIE T

27. Frafafea i skl &n @ =afer A

i, SRS
ii. geigror

il qgw
iv. AT
v. feremm
a) v, iv, iii, ii, i
b) i, ii, iii, iv, v
c) iv, i, v, ii, iii
d) ii, i, i, iv, v

e) T 9 s el

24.

25.

26.

217.

In a code language ‘her idea has merit’
is written as ‘fa lu boo ma’, ‘merit list
has been shown'’ is written as ‘go he lu
~ ki ja’, ‘name in merit list’ is written as

“‘pa ya kho he’.

. What does ‘he’ stand for ?

a) idea

b) merit
ey Tist

d) name

e) none of these

1f6x7i‘2,3>‘<5=5,5><8=1\0,then

7><5=‘-f5?5
5
b) 4
") 3
d) 0
e) None of these

Furniture : Table : : Stationery : ?
a) Office
b) Chair
Pencil
d) Room
e) None of these

Arrange the'folldwing in a meaningful

order : _

- i. Plan ©
i. Reviset)
iil. Publish &
iv. Think ©
v. Write &

a) v, iv, i, ii, i

b) i, ii, iii, iv, v -
c) v, i; v, il, i

d) ii, i, iii, iv, v

i None of these

CGP — 16 — 02 . - Page No. 12
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28, R i Pt o) B et oo A T
fter 3 e 3 o el 3 B Rt fon
e ?

a) 26
b) 12
c) 24
d) 22

e) T QB A

29. T aTEH 270 T, <t = = 5 -
99 g 3R S 9 FR Z T TR

afe 78 g %mﬂsoﬁ.tﬁ./si.zﬁma

Y 99 R 99 1 8 IR FHR A =1 45
oot /4. 2, o o amn Y 3fea = ?

a) 39% Tt /a8,
b) 40 fh.t. /6.

o) 38; .. /5.

d) 37%— .. /4.
6) T & A e

30. aﬁA,Bazs%azﬁa:wm%,a“rB, A"
X% FH FATIT ] | X HIHE R

®

28. How many times in a day the hands of
a clock one straight, pointing opposite
each other ?

a) 20
b) 12
c) 24

o

‘@) None of these

29. Aman covers 270 km partly by bus and

y
partly by car. If he covers 3 of the

distance by bus at 30 km/h and the
speed of the car was 45 km/h, the
average speed for the whole journey
was

3

a) 39— km/h
5

b) 40 km/h

c) 38% km/kr

5 d) 375 km/h

e) None of these

30. If A earns 25% more than B, then B
earns X% less than A. The value of x is

& L]
25 - '

3 of. +* F ° ‘"’%xd"’fb -

-3 LNIN i b) 20
¢) 15 w” X c) 15
d) 10 R g 10

o '
e) ¥ & F1 Tl & &) None of these
WA N Page No. 13 Set-A
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31. alkA:B=3:4,B:C=5:6,C:D=7:8 31. IfA:B=3:4,B:C=5:6,C:D=7:8
FA:DY | ' then A:Dis
a) 64:35 W G Ay Baeis
b) 3:8 . RN b) 3:8
: &e L
c) 8:3 e 0)8:3
d) 35: 64 D d) 35: 64
e) T § wid 7l -~ None of these
32. aR10wEidA 3 amg0ad, 4 21 32. If out of 10 students 3 were of 20 years
aéamsaﬁzzaﬁa%hgeﬁaﬁmm% age, 4 of 21 years and 3 of 22 years,
a) 20 T8 L\ ; 4 the average age of these is
) 22 aé’%/ a) 20 years
b) 22 years
c) 21 = 21 years
d) 19 =¥ | d) 19 years
- €) T q HIE T e) None of these
‘,\33. kU, Y g senoefi  Z, Xaafy | 33 !fUistheépouseon,Zishthespouse
_{:J TR X SR Y wE . S T of X, Xalnd Y are sisters, S is thfe wife
& eh, X, TH wd; R TR P of T, X is the m?ther of T, R is the
& 49 S % fard | R daughter of T, W is daughter of Y and
g W YA Fh R P, ‘@“ A P is the father of Y. Who is the mother
%orrrmﬁ:r% ? ,;,\»2\ @ of R 2 '
| \3 y \“ \/
f} !* a) S ’\’& P y’“\}@,\ ) S
QL b) T q’azzx.\-jg &\5“ & b) T
i) 0 Y LN 0 Y
e fb}\ d) X %V d) X
O s-P e) ¥ & %5 7 .\334. e) None of these
34. 9T EAT 33 % m%m X &l 34. With the data of Q. No. 33, who is grand
o R 7 "~ daughter of X ?
a) S a) S
b) R JIR
c) Z c) Z
d U S du
e) ¥ q H1 7L _ e) None of these
CGP - 16 — 02 Page No. 14 Set-A
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35. With the data of Q. No. 33, who is

- 35. U @& 33 % ikl F g F1 U @
TR 7 ] father-in-law of U ?
. aP P
b) Y b) Y
c) W c) W
d T d T
, « P>
e) ¥ & i T AL aE & e) None of these
—— \C
foder (w7 36 - 39) : 57 \?f Directions (Questions 36 — 39) :
fen e feofa RAwem A, B,C, DI E o -
¢-| ltis given that five cinema halls A, B, C, D
Frfafea o @ fem &

AD % 1feH iR B E ¥ e i
4 f%.H. W1 D, B % oftem i S%ﬁttw\% |
C, A zfamr & 2 .t W R | M__D

Frrferfiga il 36 & 39 ek % 3w At |

and E are situated in the following manner :

Ais 1km. to eastof D. Bis 4 km. south to E.
D is 3 km. west to B. C is 2 km south to A.

Answer the following questions 36 to 39 :

\z
36. E @ fran fhft. mDR ? ‘?i | 36. How many km. away is D from E ?
a) 2 W E'. a) 2
b) 3 AP \?,l\f-‘“\ b) 3 ,
c) 4 8 c) 4 |
d) 5 9 Eébf\-*r%e d)
. €) TH ¥ HIE 7 _ Xl Jéﬁz\l‘one of these
37. aﬂ;ﬁaﬁqf@ﬁmaﬁ@aﬁ%ﬁﬁ ? c. 37, Which_three cinema halls are in the
a) A, Dl E same line 7 :
" B’C E a) A, DandE
) B, b) B,Cand E
B «_eyA BandD
d) A, B;”T c d) A, BandC
e) ¥ § I5 T

38, T & afaa & R o R et §, nea
AR ? -

e) None of these

38. Of the three cinema halls lying in a
straight line which one is in the middie ?

a) B a) B .

b) A \/b){

&b c) D

e 2 d) C

e) ¥ Eﬁi:‘ﬁ e) None of these
CGP - 16— 02+ Page No. 15 |
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39. =i Ht §1 gfef e € 7
a) AB3 AC
b) AB3 AD
c) BCaCD
d) AB3CD
) T ¥ HIS el

A0, TR 1 Wl UE e R |
w2 ; aeft oI SR E |
Tremd :
|. gt SR 3FATE E |

— I wft ¥ AR E
fefRmdd s wadi s ?
a) e | ot B
b) aet Il @€ 7
c) 13 |l W&t R
d) T sl Ed R
o) gl & wd T

a1, i Rraret w, R, o, 9, |
Tz Y foret e o w v w7 fees

¥ Teat SR wileE & ae e g Al | g

40, Statement 1

39. Which of the two distances are equal ?
\,aj/AB and AC.
b) AB and AD
c) BC and CD
- d) AB and CD

e) None of these

A\l apples are
pineapples. :
Statement 2 : All pineapples are
grapes. -
Conclusion :
l. All grapes are pineapples.
Il. All apples are grapes.

.,W‘hich of the following is correct ?

\;)(-Only | follows

Only |l follows
c) ;Both | and I follows
d) Neither | nor Il follows

e) .None of these

41. Five students Mahendra, Jitendra,
Dharmendta, Surendra, Narendra
‘participated in a race. Mahendra
completed the race before Jitendra but

I s & O1E Al s @ TEd e @ after Dharm?ndra. Surcéndr% completed
) 13 it '
& i@am;mmm:_% H!.‘aere?c?rg.a er Jitendra but before
a) U3 9 TR | In the first position and the last position =
ot are respectively
b e e a) Dharmendra and Narendra
c) oS 9 AR b) Narendra and Dharmendra
d) wis @ s c) Mahendra and Narendra
: d) Dharmendra and Jitendra
e) T § Fe Tl ~ @) None of these
42, Trefafga T 7 % TUE WHN W AR 42. Which letter will replace ‘7’ in the -
ayTa ¢ ' following 7
A?2FJOUB Al F 40 UER
a) B a) B
b) C b) C
c) D c) D
“dy E d) E
o) FHAFE T e) None of these
CGP - 16 — 02 - Page No. 16 Set-A
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43. 43. Ram has a rectangular plot which has
300 . T 9R § O T 8, IR e, been fenced with a 300 m long wire.
el @ @ B, e &) T Find the length and the breadth of the
e T aﬁﬂz:ﬁ . plot if the length is twice its width.

a) L=244,B=12 . a) L=24m,B=12m

b) L=100 #., B =50 Hi. b) L=100m,B=50m

¢) L=20 #t.,B=10 . c) L=20m,B=10m

d) L=60 #t., B =230 #. d) L=60m,B=30m

) 3 ¥ 18 el e) None of these |

44. 60 g3t i ok g § n ufEREt 9i g 44. A B0 pages book has n lines per page.
&1 3 & F S ST the number of lines were reduced by

g, afe afFmi @ & S A If th ber of duced by 3
731 i WA 10 9¢ STl §, 96 n W AH then the number of pages go up by 10.
T it 4 : The value of n is equal to

a) 30 a) 30

b) 22 b) 22

c) 31 c) 31

d) 12 d) 12

e) wH A g e e) None of these

45. €1 % T 18 Hiet T $9Sl B, 98§ 45. 'Seema has 18 meters of cloth. She
T YER FHeA TR © TR T e g * _ wants to cut it in two pieces in such a
35%_ ¥ 4 dix A0 7, at B gae way that one piece will be 4 meter
TR R R 7 ' longer than the other. What will be the

a) 77, , length of the shorter piece ?
: 7 meters :

o 22 b) 9 meters

o) 3 c) 2 meters

d) 8 Iﬁ d) 8 meters

e) T ¥ 13 T | e) None of these

46. IR AW e T 99 AW FT A E. 18 8 3R 46. If the cost of three apples and five
TS I AR AWM F YT, 14 3, T U= mangoes is Rs. 18 and that of five
Gl 1 e B ' \b apples and 3 mangoes is Rs. 14, then

a) ® 5 Rl N T ”, W\ the cost of five apples is equal to
i : 3 E. x® € Rs.5
XS | % b) Rs. 10
c) %4 c) Rs. 4
d) . 6 d) Rs. 6
e) ¥ § 1S 7 : e) None of these
CGP-16-02x Page No. 17 . Set-A



0 000 0
47. Trefafed § ga den ®

76 85 78
38|19 1'1_ 5117 119} | 85| ? [
183\ 153 156
a) 15 :
b) 17
c) 19
d) 11
e) 1 & FI3 T
48. T qorm Hfifat % wh wge # R H wEn
7% Rl ) HE H AR 14 st o
TR EE ot
a) 57\"\ e (:/g
a%
b) 7 BN
iy 4
c) 10 Y %/
PPN
d) 14
A W
o) w7 \v\%«g

49. T AR w1 5 1 ey, 1970 #1 gan
o1 579 Taa Hareram o) e e s iera R
T TG :

47. The missing number in the following

78 85 78 \}*
38|19 [114] (5117 [119] (65| ? f117)

133 153 156 i'
is ) 1
a) 1.5 ‘
b) 17 |
o) 19

i

d 1 :
me of these

48. In a group of cows and hens, the
number of legs was 14 more than the

f/},\ twice of the number of heads. The
W .,V number of cows was
\d a) 5
BT
c) 10
d) 14

e) None of these

49. A gjir[ was born on September 1, 1970
which happened to be Tuesday. The
next birthday will be Tuesday in the

year
a) 19754 a) 1975
c) 1981 # c) 1981
d) 1982 % d) 1982
e) T A 1S & e) None of these
CGP - 16— 02+ Page No. 18 Set-A
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) 0 L T A L?\(fnx_;ﬁa |
A
T e 50 s HRA TR

o

L
worfe 3 Raely s A T Seaed B e
AT % 2,50,000 B | S W, oW, HefEl Al

e, T i forstedt ot et e e

AT i T o o & el e g e |
- \o

50. 38 99 o3 % s W el w e @
a) ¥ 12,500
b) % 25,000
c) 15,000
d) % 18,000
e) T q I3 &l

51. fagee W Ieres T weiEt ) weEd W

Direction regarding Q. No. 50 and 51.

The total cost of producing. plastic toys is
T 2,50,000. The production cost on raw
material, labour, repairing of machines,
advertisement and electricity is shown by
the following Pie-chart. :

Repair of
Machines

50. On the basis of this Pie-chart the cost
on elecitricity is
a) T12,500
b) X 25,000
¢) ¥ 15,000
d) ¥ 18,000

e) None of these

51. How much the production cost on

o A fohaeft 0 & ? advertisement is less than that on
a) ¥ 25,000 repairing of machines ?
b) Ed 37’500 a) ¥ 25,000
e '. b) ¥ 37,500
el : ¢) ¥ 10,000
9 % 12,500 d) 12,500
e) T & =ig & e) None of these
CGP-16-02= SetA
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52. X, WHiwgag Y, Vel X, zH 52, X is sister of W. Y is father of V. X is
Thesefr z Y dfafa | v, w s daughter of Z who is married to Y. V is
TET W, Y 8 e vt R 7 brother of W. How is W related to Y ?

a) T (321) srqate : a) Data inadequate
b) T a8 b) Son -
c) gl Daughter
d) @I gl - d). Son or daughter
e) ¥H ¥ g Tl e) None of these
53. 53&@;@3@13"&1@111'3%3@%?@( .53. 5 years ago, the combined age of
40T off | I H I Y T ST Suresh and his mother was 40 years.
1:4% |@m—q€zm-ﬁm§ﬁmﬁ%? ~ Now the ratio of their agesis 1 : 4. How
w* W/ oldisthe mother of Suresh ?
a) 38ad £ a7
o ab /] a) 38 years
b) 42. o “ . b) 42 years
c) 43 - N c) 43 years
d) SB_HE'Q ' d) 36 years
e) TH ¥ HIE L /ef None of thesg 9@9 V\G i?-i)
[ : b “O

54 I 'COMPREHENSION & o 54. First three letters of the word
15RT w1 vere e smar ® aun f eifw ‘COMPREHENSION' are reversed and
1 s7ar siTg feu g & o7 e ol w19 gU then last three letters are added and
gaﬁaﬁwwsﬁgmm% a foega then the remaining letters are reversed

? and added, then which letter will be
I 5 WS ~exactly in the middle ? :
a) N a) N-
) s s
c) E c) E
d0 : d O
e) T8 | HE 7 e) None of these

55. FrefaRaa § 77 % wH W BN 91 3R 55. Which letter will appear in place of ‘2’

A ? inthe following ?

D,F, 1,2, N,P c DFLZNP
a) J e a) J
b) K b) K
Sk |4
¢ L 3 ¢ L
d) M ‘d) M
e) ST A IS Tl ~e)/None of these

. CGP-16 - 02 Page No. 20 Set-A
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56. ﬁmﬁfﬁgﬁ%ﬁ‘rﬁﬁqm@a,%mﬁm%
s, A =R Y \\Yg o

H,F,AN,E K !
.-a) F
B =
¢ K
d) A
e) T & IS T

57. :ﬁéﬁmﬁa@nﬁm%
i : feen (77 weA-gm 2)
wﬁqnﬁ"@qmﬂ%%@i‘rww
T &

e a!%r U : F‘\@Eﬁ
%wgﬁq(wﬁﬁ%)aﬁﬁﬁmw%
TR T T S9IaT B | o
a) Hiddl : Fid Qé§3::7ﬂkj\ =
b) I : WEH

c; 7 : Frg) puds — *
d)

‘a’qﬁﬁ@éqﬁf

ﬁ%m(msa aq%/ Q?"}(M“

L
%m%%u%ﬂs%&raﬁﬁiﬁ?mgaﬁ% |

W, W@ @ w9 aR ® | R, T A
@ﬁﬁ%m@“{,mﬁaﬁaﬁaﬁ%m@,r@"r
AN AR @, T A A I A R |

5. Frefan § 9 1w w4 90 @ TR
AF IR EHE ?

a) ¥, e, Y, T, Ry
b) g, e, TEm, W@, I
'~ ¢) T, T, v, 1, W
d) &M, &, @, e, fg

‘4/5‘6. Which one of the following figures is

different from others in accordance with
some rule ?

H F,A N EK
.a) F
b) E
c) K
d) A
e) None of these
57. Below is given a related pair of words :
Director : Film (This is question pair)

The above pair is followed by the
pairs given below :

Poem : Poet, Novel : Writer,
Editor : Magazine, Chair : Carpenter,
Wheat : Farmer.

Choose the pair (if any) that best
expresses the relationship similar to
RO the question pair.

a) Poem : Poet
e b) Novel : Writer
c) Wheat : Farmer

d) Chair : Carpenter
e) None of these

Direction (Que. 58 - 60) :

Itis given that all the girls are of the different
ages and Rehu is one year older than
Rekha. Rehapa is two years younger to
Renu. Rakpt is one year younger to
Rehana. Ritu is two years younger than
Rakhi. Rekha is two years older than

- Rakhi. - . — &,
L STy
58. Which of the Tellewing is the order from
- the youngest to the oldest ?
a) Renu, Rekha, Rehana, Rakhi, Ritu
makhi, Rehana, Rekha, Renu
c) Ritu, Rekha, Rakhi, Renu, Rehana
d) Rehana, Renu, Rekha, Rakhi, Ritu
e) None of these

e) 390 ¥ I3 el

CGP - 16 — 02
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59. 7 T el i T U
| T form FEATR | |
11, @ = G EYE 39 % TR B
i1, Y <6 38 1 g R
a) ¥a@ I TER |
b) et 1 &S |
c) Faw TR |
d) 1TNTAE |
e) 8 A =13 TRl

60, Th 3N T B, Ui TSRl F |1
gttt 2 St 2 | 3wk 3w, ol i A,
o= wreft @ e ® | w3 & R |
Sreffad 3 & F W e G B EEd e ¢

I, %, 18 %9 39 R o Ye § A
e

I, v, T & i e g & 5 R

&

il ﬁ,i@m@mwr@éa@% P

V. wF, TE A B A T A 9 R
a) sad I
b) saalll
c) &Haa IV
d) et |
@) T ¥ I8 T

61. wgﬁqaﬂqﬁaﬂwﬁr@,ﬁ@nﬁﬁﬁ

ey, Tien § Bl TR FEFEA R 7

59. The combined age of Renuand Rakhiis
l. An odd number.

E I_I; Equal to the combined age of
Rekha and Rehana.

lll. Twice the age of Rekha.
a) Only lis true

b) Only llis true

c) Only lllis true

d) land Il are true

e) None of these

60. One more girl Ruchi joins the group of
5 girls. Her age, in complete years is
different from other girls. Which of the
following statements about her age
could be true ?

. Ruchi is younger than Renu but

older than Rekha.

Il. Ruchi is younger than Rakhi but

- older than Ritu.

1. Ruchiis younger than Rehana and

" older than Rakhi.

IV. Ruchi is younger than Rakhi and
older than Renu.

a) Only ]

b) -Only 1l

) Only IV

d) Onlyl

e) None of these

61. Introducing a man, a woman said, “his
father-in-law’s father is my father-in-
law.” How the man is related to the

woman ?
;. B) G \K‘;‘n-in—law
b) ‘3,? . b) Son
c) i c) Mother
d) &8 " d) Mother-in-law
e) T | I el e) None of these
CGP — 16 — 02+ Page No. 22 Set-A
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OE 0 0 A
v (A 62 — 66) P
Frafafiaa geameti &1 1eaeT % JEl & SN
difere

i. T SR B W 316 =RE E, F, G,

HLJ KanmLsayrrRa a3 8 5
T gige 1 <) oA © |

ii. W AT 65T ¥ 9T Y Wh gEl %
ST - el 9 € |

ji. LA F% fiad Ry

v. G g FHfaag|

V. J TR TR GA T AR H 9 & |

vi. Afee 9e& E % 9 IeY 9e F
Eib

vii. Fﬁﬂl%aﬁaﬁ@nﬁm%’t%{

62. FE g daaReTgew € 7

a) E, H3WJ
b) E, G3RJ
c) G, HRJ
d) F,G 3iRJ
e) T ¥ =3 T

63. JFRwd R i d s aam?

a) J T Afee vew 7

b) J TH JEY W 3

c) J =1 Tor fHerivor == feman <t wehan
d) Jﬁf@:ﬁrqﬁmﬁmm
e) S | w15 Tl

54. ﬁn%%aﬁﬁaﬁqEﬁmH%aﬁaéa%?
a) G
b) J
Qr
d) K
e) T 4 FE T

ction (Question 62 - 66) :

Study the following informations to answer the
guestions given below :

i. EightpersonsE, F,G, H, 1, J, Kand
L are seated around a square
table, two on each side.

ii. There are three lady members and
they are not seated next to each
other.

iii. Jis between L and F.
iv. Gis between | and F.

v. H, alady member, is second to the
left of J.

vi. F, a male member is seated
opposite to E, a lady member.

vii. There is a lady between F and 1.

62. Who .among the following are the Iady
members ?

a) E;Hand J
b) E,Gand J
c) G,Hand J
d) F,GandJ
e) None of these

63. Which of the following is true about J ?
a) Jis female member
b) Jis a male member
c) SexofJ bannot be determined
d) Position of J cannot be determined
e) None of these

64. Who among the following is seated
between Eand H ?
a) G
b) J
e F
d) K
e) None of these

CGP-16-02= Page No. 23 Set-A
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65. Praffaad A FHdmadainamdae? | 65

Who among the following is immediate

teft ofF?
a) |
S a) l
; b) J
G) L . ' C) L
d) W:‘ﬁ [RERISIEET d) Cannot be determined
e) T9H @ #ig T e) None of these
66. KaRFydufFam=ufradg? 66. How many persons are seated between
Kand F ?
a) 1 a) 1
b) 2 b) 2
LG8 c) 3
d) e &l e ST EeRd ~ d) Cannot be determined
g) T8 ¥ &E A8 e) None of these

The speed of sound waves is 300 m/s.

67. wafraeiifiame 3004 /8.3 | Rt | 67

W U Hfa 397 i H1 5 AHE T8
G Sfeh qE 36t = A 6 Qe %
TG AT | ST sfwet % oS erfitera

At a place a person hears the sound
produced after 5 seconds while another
hears the same sound after 6 seconds.
The maximum and minimum dlstances

qoT e gl @
a) 1.8 f&.4t., 0.15 fr. .
b) 2.2 f.Ht., 0.20 f&.f.
c) 2.8 f&.Ht., 0.25 f& ..
d) 3.3 %61, 0.3 ..

between the two persons are
a) 1.8km, 0.15km

~b) 2.2km, 0.20 km
c) 2.8km, 0.25 km
d) 3.3km, 0.3km

e) Fﬁﬁﬁ“ﬁ e) None of these
68. frmfufa il 1 s o @ 68. The ascending order of the following
2.2 § —1- fractionsg,i,g,lis
8’582 o 852
28 2481
3’58’2 %35 gt
;2 A 2418
) 3'5'2'8 ) 3'5'2' 8
2-1 8 _ 2 1 3
J’)/:'s’z’g /‘;{:-’3’2’8
L3124 3124
)8'2'3’5 )8'2'3’5
e) T | g &l e) None of these
CGP -16- 02 Set-A
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69. IR 4%><y%=9,a‘rxaﬂt y % W 8

a) x=2,y=5
by x=56y=2
C) x=2,y=9
d x=7,y=1

) T | iE T

70. & TR g TRy o e e g
T | '-
aR 4% 8.2 = 17
8 3% % = 27
A 6247=2
a) %, +,-19
/b’j/+,x,-;7
'o) —,.><,+;5
d) +,-,%x;20
e) T ¥ =i 7
71. T IR OF WH A d R H B ®

S8 | 98 et g8 50 AL /45, =

- g o aneft 70 R /6. e A @
AT ® | e AT h a1 B

' 69.

70.

a8

If 4%>< Y%=9, then the values of
X and y are given by

a) x=2,y=5

b) x=5,y=2

c) x=2,y=9

d) x=7,y=1

e) None of these
Assign correct mathematical signs and
find the missing figure.

o4 532<=17

837227

then6 2 47 = ?

a) x,+,—;9

b) + x,—;7

Cc) -, %x,+,;5

d +,—-x;20 |

e) None of these

A man goes from a place A to another
place B. He covers half a distance at a
speed of 50 km/h and other half at a

speed of 70 km/h. His average speed

for the whole journey is

a)l 56 .5, /5.
a) 56 km/h
b) 54 T .. /9. b) 54 kmvh
c) 60 k.. /9. ¢) 60 km/h
d) 65 f.s. /4. d) 65km/h |
e) ¥ 8 &8 T e) None of these
CGP — 16 - 02+ Set-A
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'72. afg 123 T 987 i AT 426 WEA1 684
1 SR Hef =, A 234 weftfa w=dt ]
a) 7851 pvlo
b) 586 @I
c) 768l
d) 876!
e) T A HIS T

73. A e A HA w7

72. 1f 123 stands for 987 and 426 for 684,
then 234 stands for

a) 785
b) 586
o

876

e) None of these

73. Which number in the die is

- opposite 6 ?
> 7/
6 1 ¥ 3
3 6 1
-3 5

a) 1 S

b) 4 b) 4

¢} 5 c) 5

d) 2 g

o) ¥ ¥ aﬁéqﬁf _ N»Ié\)ﬁone of these
74 9f42+44+46+8+...+80=8,TSH 74. 1f2+4+6+8+...+80=S,thenthe

qH & value of S is

a) 1460 a) 1460

b) 1580 b) 1580

c) 1640 c) 1640

~d) 1680 d) 1680

e) 3 9 w13 el e) None of these
75. ﬁﬁﬁflﬁ%ﬁﬁaﬁﬁﬁm 75. Find the odd one out in the following

17779, 29, 31, 39, 41 17,19, 29, 31, 39, 41

a) 29 - a) 29

b) 31 b) 3%

c) 39 6 39

d) #1 d) 41

e) T ¥ i 7 e) None of these
CGP - 16 -02x Page No. 26 Set-A

==



OO OO

76. Torelt wrRt #, e st H, Hiet wfie,
w7 7 & arh g H wen
SHAYT: 40, 50 9 60 ofi| 37 3riel I U-
amE # wefdfa e s 21 @R gry 2R
areft gefenedt w1 qwri ATt W 5 A
HFRE 7

a) 150°
b) 120°
¢) 100°
d) 50°
e) ¥ ¥ i3 el

77. 20 58 | 60 ¥ I 7y & safFAT W
TRFIAT 512 39 YN & ;-
s 60ad 50w 40w 30 20w
CE 7 LS T
Afd@ 60 50 40 30 20
&t T _
30 35 99 % TRy % sufaa)
qEIe 7 :
a) 30935 % Hew
b) 10
c) B
Ay Frafia 7& 6 s gedt
e) ¥ ¥ FIS 7
78. fefafaa avft & W ‘4’ fFe §, s
' g{?ﬂﬁﬁ‘?’%@ﬁgﬁ&ﬁﬁ‘s’;ﬁ%?
9876543217425867461234742356

76. In a city, there were 40 accidents,
50 accidents and 60 accidents in a time
period involving motorcycles, cars and
trucks respectively. This data is
represented by Pie diagram. What is
the central angle of the part
representing accidents by cars ?

a) 150°
b) 120°
c) 100°
d) 50°
e) None of these

77 Freqﬂency distribution of the persons
between the age group 20 years and
60 years is given as follows :

" Age « Upto60 Upto50 Upto40 Upto30 Upto20

yrs yrs yrs yrs yrs
No.of 6 50 0 D 20
Persons
What is the number of persons within
the age group 30 and 35 years ?
-a) Between 30 and 35
b) 10
€) 5
.d) Cannot be determined

ot

e) None of these

78. How many such ‘4’ are there in the
following series, which is immediately
, preceded by ‘7’ but not immediately

7430874 followed by ‘3’ ?
9876543217425867461234742356

a) 2 74308744

y a) 2

V) 4 b) 3
d 5 c) 4
e) 3 | &S 7 o3

e) None of these
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79. w53 ‘DELHI™ ieri @ 0@ fred we 79. How many words (with meaning or

(aqafqgfmanfaﬁ'-r) ST ST HE & i) 3781 without meaning) can b‘e formt?d wfith
‘R S E 7 - the letters of the word ‘DELHI’ which
E 3%s F begin with the letter ‘E’ ?

a) 5 a) 5

b) 6 b6

c) 12 : _

d) o4 oo (e b

&) ¥ § P e %24

| | e None of these
80. 3R 1.5x = 05y, @ ;:: wiwAgng? | 80. If1.5x=.08y, then whatis the value of

- _ e

g e ke S~

B, 598 | . O.‘t—:*r"g ‘ a) .935

¢) .735 \'\ ‘V;'S b) .835

c) .735

) 635 _ W -
o) THARS T \’K sy M;? Sc?:e of these

81. ferwm 3 forelt o 1 25% e Wit

1 S| HHE 3 T T 10% AT T FH
1 ST | AR 5% ™ T 231 5. §
3 FE HI o9 e | e g el

81. Kishan sells an article to Kamal at a

profit of 25%. Kamal sells it to Kamlesh
at a profit of 10% and Kamlesh sells it
for Rs. 231 to Karunesh to get a gain of

n_gﬂﬁ 54 t@w% ? \%9 5%. What is the cost price at which

% ' - icle 2
g 00  a) 180%. \q_o,a y)} *-3 Kl;)han b;)gght the article ?
\ . ny ~J ,© :
v 0 b) 160%. N e W%K-? Rs. 160 '
SN ﬂﬁo c) 140%. _ /’»%’7 AW c) Rs. 140
AN 120% v d) Rs. 120
7 e) ¥ ¥ HIg T e) None of these
82. 4.86m,5.69m,5.12m,4.71 o™, 82. The average of 4.86 gm, 5.69 gm,
4.94 7m 3T 5.04 U = 2\ 5.12gm,4.71 gm, 4.94 gmand 5.04 gmis
8) 4.69TW e ;\.%‘OL\ = a) 4.69gm
b) 4.50TW o W b) 4.59 gm
. ¢) 4.96TM {’{7&“*% c) 4.96gm
d) 446 ¥

/Gf;sﬁﬁa?éq—apf
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¢
& % d) 4.46gm-

None of these |




0 A

83. v& foreht o & i A 4 SN S 8, 9 83. When the numerator of a fraction is
5 ' increased by 4, the fraction increases
S — AT | REms g ? >
3 R0 Ty WO by 3 What is the denominator of the
8) 5 § i fraction ?
b3 LS
ey 4 : b) 3
d) 2 c) 4
d) 2
o) T W e T \ e) None of these
| o\
84. (16)¥4 =W 8 \'6 84. Value of (16)%4 s
‘a) 12 a) 12
b) 16 : b) 16
c) 48 . . <€) 48
d) 8 d 8
e) T A w13 el : e) None of these
85. If% < vigel i o 1 oI 1: 37 85. If the heights of two cones are in the
s % &‘JTH‘[ I 3 : 53, o _ ratio of 1 :. 3 and their diameters are in
Saia ' the ratio 3 : 5 ; the ratio of their volumes
SR 1 ST B ,@E\“ will be '
a) 3:25 o 1 a) 3:25
b) 9:16 b b) 9:16
c) 8:25 \%"_‘7 c) 8:25
d) 9:25 d) 9:25
*e) T U T e) None of these
86. T H 3 : 40 S W Tt i g0 A GE 86. At3:40 hrsthe hour hand and the minute
Fort e el g = m 2 hand of a clock form an angle of
. 0 10
b) 120° _ e b
¢) 140° B AD"
yo-o d) 130° :
6) = & 1 T e) None of these
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87. “Srem ol st &' 35 9/ T2 ¥ fore
qrefes yree

PYRERED
b) fareg

d) |

o) T 4 wE €

88. @wﬁmaﬂrmﬁﬁww
e e L '
&) T
b) 2wrt
c) faesft
A T
e) T ¥ 1S el :

8. T A W WR HI I R 7
a) e forvefeh sredi <hi freTrert nefeh wrec

90._ﬁm%ﬁaaﬁ@a¢ag,gwamiﬂ
@) IR
c) ATEHW
d) Sueed

e) T8 9 HIg Tel

91, ‘ofar’ wee & #F yem 2 7
a)H
b) wf
c) femm
A) 3 -
e) 38 ¥ =3 el

92, “dAT’ ¥eE W B 39 R 7

a) ¥,
* b) &\
o

e) ¥ & =i el

Ry Py
93. fimiftha # ‘w1 dowE w9 R
c) |f =1 o7 R s T ) A
o) i 9y e i
. : d) 7u
e) T8 | 1S e) 3T ¥ =g 7 -
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B 6 O A 0
94. Trfafad § @ sH-u1 yoe wHeRifRy
AN (See) T8 ® 7
a) g&l
b) ¥
c) ¥

d) &8
_Me”)’m

95. “‘grem N s’ aﬁ@*ﬂmﬁw
FHEAE?

98. B0 w1 agee A 2
| a) wa 3
b) weal B
oy &b
d) s b
o) FHARE T

& S~ 99. Frefirfem i & w—ar oz weiw zwaren
b) GRI-SiTeR el T R ?
c) o <fi
' a) 3
d) SE-a ‘
e) 3 ° Hi3 e b) s34
96. friferfien # &y 3 1 g | c) Sw
a) Sgh UH IR v R Y I —
b) M Fw & i E T
Jamﬂ%ﬁﬂmaa?maﬂﬁwéﬁm e) @A
W _
d)fﬁ*ﬂmﬁﬁﬁﬁf 100. Frfirfad # & sefterd “e’” wamy |
e) TH § FIE e .
' a) T @
97. "IwU’ F GG
b) &g
L) ATET |
b) 3T c) dfeq
c) B
d) @
d) == )
e)‘sﬂﬁﬁaﬁé?ﬁ e) ¥ ¥ #iE 7
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